PNEC

N PEC/
PNEC (ng/L) | PEC (u g/L) PNEC
1 107-02-8 LCso 100| 0.14 p 8:2 < :i :
< < 0.
2 75-05-8 TLm 100, 10,000 > 2 < 8.8882 5
< 0. < 0.
3 90-04-0|0- NOEC 100 25 < 8.82 < 8.882 5
4 141-43-5|2- NOEC 100, 85 é:g g:ég 3
5| 591-27-5|n- NOEC 100, 05 57 <12 .
6  107-18-6 LCs 1,000 032 = 8:2 . g:gj s
71 120-12-7 LCss 1,000 00013 = 8:812 . 18 s
8| 2104-64-5|EPN ECs, 100,  0.0015 . i - 2;8 g
of 18854-01-8 LCso Loog 13 < g.s < 8:22 g
10| 50512-35-1 e 100 10 - 24 - é:j 5
11|  26087-47-8 NOEC 1000 1 < 312 < g:: -
’ 07211 Chronic value 100l a2 — —— z
< 0. < 0.
13 107-15-3 NOEC 1000 16 < g.j < 8;2 i
14 60-00-4 LCso 1,0000 60 ?_59 é:gg :
15| 110-80-5|2- ECso 1,000 1,900 = 813 > 8:8882 5
16|  10380-28-6 LCss 1,000  0.062 — j - gg =
17 111-87-5|1- NOEC 1000 16 z




PNEC

oA PEC/
PNEC (nu/L) | PEC (u g/L) PNEC
18|  4170-30-3 <2 a
<2 X
19 97-00-7|1- -2,4- NOEC 1000 14 i
<009 <028 X
20 95-51-2|0- NOE 100, 032
0 OEC <009 <028 x
<007 <02 X
21 106-47-8|p- NOE 100 032
P OEC <007 <02 x
<5 < 450 X
22| 1897-45-6 LC 1,000, 0011
0 ’ <5 < 450 x
<03 <021 X
23 95-49-8|0- NOE 100, 14
0 OEC <03 <021 x
24|  1836-77-7 NOEC 1000 0.5 01 2 =
<1 <20 X
25 107-30-2 a
X
05 0.01 5
26 56-23-5 LC 1,000, 35
0 ’ 05 0.01 o
27 108-91-8 NOEC 1000 16 i
25 1,900 a
28 62-73-7 LCq 100,  0.0013 — 0 -
9 X
29 156-59-2|  -1,2- 5 .
05 0.002 5
60~ 1.0 LC
30 156-60-5 1,2 5 1,000, 220 — —o03 -
<7 0.07 o
31 78-87-5(1,2- NOE 10, 9
OEC <6 < 0.06 o
26 0.03 5
32 75-09-2 NOE 100, 830
OEC 6 0.007 5
<04 <13 X
33 51-28-5(2,4- MAT 100, 03
¢ <04 <13 X
34 87-62-7|2,6- LCsy 1,000 112 i
35 96-09-3 LCsy 1000 45 i




PNEC

. PEC/
PNEC (nmo/L) | PEC (u g/L) PNEC
49 19,000 .
e LC ) '
36|  333-41-5 50 1,000/ 0.00026 <05 < 1,900 x
17 5,700 =
- - TL . y
37 137-26-8 50 100 0.003 =3 < 1,000 x
38 62-56-6 ECs, 1,000 48 .
12 71 .
30| 28249-77-6 ECso 1000 017 <5 <29 X
40 127-18-4 NOEC 100 011 14 127 =
3 27 ]
a1 100-21-0 .
X
23 0.2 a
42 71-55-6|1,1,1- NOEC 100 13 06 0.05 )
16 0.05 =
43 79-00-5(1,1,2- NOEC 100 30 =2 <007 5
37 1.8 ]
44 79-01-6 NOEC 1000 22 > 0.095 o
<02 <022 x
o5 _ EC .
45 95-95-42,4,5 " 1,0000 090 ~ 02 <022 x
<015 <002 o
_06- ) LC .
46 88-06-2|2,4,6 " 1000 6.1 055 <002 o
0.05 >1 n
471 1582-09-8 LCso 100 <0.05 <005 x
48 108-67-8|1,3,5- NOEC 1000 4 .
<002 <003 5
49 86-30-6|N- NOEC 1000 075 <002 <0.03 5
11 0.05 5
15 LC
50 75-15-0 50 100 2 12 0.06 o
<036 <08 x
a1 LC .
51 123-31-9 50 100 044 <036 <08 x
0.85 85 .
2 110-86-1 NOE 100 01
5 0-86 OEC 0.09 0.9 A
538 28,000 =
53 122-14-5 NOEC 100, 0.00021 <03 < 1.400 x




PNEC

oA PEC/
PNEC (nu/L) | PEC (u g/L) PNEC
3 1,000 .
54 3766-81-2 NOEC 100  0.0030 = —T000 -
55 106-99-0 a
X
<5 X
56| 23950-58-5 —5 ~
57 75-25-2 NOEC 1000 48 i
58 100-97-0 ECs, 1,0000 36,000 i
59 100-52-7 LCes 10000 1.1 i
24 0.45 A
71-43-2 LC 1000 53
60 3 0 5 0.09 o
_ _ EC50 LC50 007 14 [ |
61 50-32-8 () 1,0000  0.005 — o0l — -
62|  9036-19-5 )= ECs, 1000 21 i
63 97-88-1 n- NOEC 1000 11 i
64 80-62-6 TLm 1,0000 130 i
65 90-12-0[1- NOEC 1000 22 i
NOEC 0.15 0.02 °
66 108-99-6|3- NOEC 100 10 < 0.05 < 0.005 o
67 109-86-4|2- LCes 1,000 > 5,000 i
0.06 0.04 5
1330-78- LC 1000 15
68 330-78-5 0 <0.03 <0.02 o
0.24 0.02 5
126-73- -n- EC 1000 11
69 6-73-8 n % 0.03 0.003 5
PEC
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